BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF CLEARING AND GRUBBING TO SERVE STOKESBURY HARRIS COUNTY, TEXAS DECEMBER 19, 2023 LIA ENGINEERING, INC. E. MURPHY DECEMBER 20, 2023 1880-8203 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE BID NO. 1	
1) GREAT BEAR CONSTRUCTION	\$546,001.50	\$795,001.50	
2) EUBANK EXCAVATION LLC	\$555,519.24	\$566,559.24	
3) COOK'S EARTH WORKS, LLC	\$563,272.28	\$774,272.28	
4) DOUBLE OAK CONSTRUCTION, INC	\$594,315.00	\$709,315.00	
5) CLEARX, LLC	\$597,621.20	\$597,621.21	
6) RANDY ROAN CONSTRUCTION, INC.	\$693,668.00	\$887,988.00	
7) ADVANCE SITE PREP LLC	\$871,395.40	\$1,098,203.40	

CALENDAR DAYS 90/100

mark dwarson

MARK H. SWANSON

93526

CENSE
ONAL ENGINE

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF CLEARING AND GRUBBING TO SERVE STOKESBURY HARRIS COUNTY, TEXAS DECEMBER 19, 2023 LJA ENGINEERING, INC. E. MURPHY

DECEMBER 20, 2023 1680-8203 (9.2)

LJA JOB NO.		10	00-0203 (9.2)					
			1) GREAT BEAR CO	ONSTRUCTION	2) EUBANK EXCA	VATION LLC	3) COOK'S EARTH	WORKS, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
CLEARING AND GRUBBING ITEMS								
HEAVY CLEARING AND GRUBBING, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	55.52	\$4,000.00	\$222,080.00	\$5,000.00	\$277,600.00	\$4,000.00	\$222,080.00
2 LIGHT CLEARING AND GRUBBING, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	141.76	\$800.00	\$113,408.00	\$1,459.00	\$206,827.84	\$965.00	\$136,798.40
3 REMOVAL AND DISPOSAL OF EXISTING FENCES, ALL TYPES, INCLUDING PERIMETER FENCES (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	22250	\$0.25	\$5,562.50	\$1.00	\$22,250.00	\$2.00	\$44,500.00
4 REMOVAL AND DISPOSAL OF EXISTING STRUCTURES IDENTIFIED ON THE CONSTRUCTION PLANS INCLUDING SLABS, COMPLETE IN PLACE	LS	1	\$3,000.00	\$3,000.00	\$9,500.00	\$9,500.00	\$20,000.00	\$20,000.00
5 CONTROL OF SURFACE WATER, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$10,000.00	\$10,000.00
CLEARING AND GRUBBING ITEMS SUBTOTAL:				\$345,050.50		\$517,677.84		\$433,378.40
STORM WATER POLLUTION PREVENTION ITEMS								
1 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$1,200.00	\$1,200.00	\$3,000.00	\$3,000.00	\$85,326.60	\$85,326.60
2 CONSTRUCT AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$500.00	\$500.00
3 REMOVE STABILIZED CONSTRUCTION EXIT, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$1.00	\$1.00	\$50.00	\$50.00
4 BROADCAST SEEDING OF ALL CLEARED AREAS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	197.28	\$700.00	\$138,096.00	\$50.00	\$9,864.00	\$1.00	\$197.28
5 HYDRO MULCH SEEDING OF SWALES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	10	\$1,800.00	\$18,000.00	\$100.00	\$1,000.00	\$1.00	\$10.00
6 REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	16020	\$1.75	\$28,035.00	\$0.50	\$8,010.00	\$0.50	\$8,010.00
STORM WATER POLLUTION PREVENTION ITEMS SUBTOTAL:				\$187,831.00		\$24,875.00		\$94,093.88
MISCELLANEOUS ITEMS								
1 INSTALL 3-STRAND BARBED WIRE FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$4.00	\$4,000.00	\$5.00	\$5,000.00	\$13.00	\$13,000.00
2 REMOVE EXISTING OVERHEAD ELECTRICAL LINES (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	5120	\$1.00	\$5,120.00	\$0.97	\$4,966.40	\$2.50	\$12,800.00
3 WOOD MATS WHERE CONTRACTOR CROSSES PIPELINES, COMPLETE IN PLACE	LS	1	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$13,120.00		\$12,966.40		\$35,800.00
ALTERNATE BID NO. 1								
1 EXTRA COST OR DEDUCTION TO HAUL OFF MATERIAL FROM CLEARING AND GRUBBING IN LIEU OF BURNING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LS	1	\$249,000.00	\$249,000.00	\$11,040.00	\$11,040.00	\$211,000.00	\$211,000.00
ALTERNATE BID NO. 1 SUBTOTAL:				\$249,000.00		\$11,040.00		\$211,000.00
BIDDING SUMMARY								
SUBTOTAL CLEARING AND GRUBBING ITEMS				\$345,050.50		\$517,677.84		\$433,378.40
SUBTOTAL STORM WATER POLLUTION PREVENTION ITEMS				\$187,831.00		\$24,875.00		\$94,093.88
SUBTOTAL MISCELLANEOUS ITEMS				\$13,120.00		\$12,966.40		\$35,800.00
TOTAL AMOUNT BASE BID				\$546,001.50		\$555,519.24		\$563,272.28
▼								

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

**TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 1** 

CONSTRUCTION OF CLEARING AND GRUBBING TO SERVE STOKESBURY HARRIS COUNTY, TEXAS DECEMBER 19, 2023 LJA ENGINEERING, INC. E. MURPHY

1) GREAT BEAR CONSTRUCTION

\$795,001.50

E. MURPHY DECEMBER 20, 2023 1680-8203 (9.2)

ITEM DESCRIPTION UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT QTY UNIT COST TOTAL COST ALTERNATE BID NO. 1 TOTAL AMOUNT BASE BID \$546,001.50 \$555,519.24 \$563,272.28 SUBTOTAL ALTERNATE BID NO. 1 \$249,000.00 \$11,040.00 \$211,000.00

Page 3 of 7 FRN F-1386
LIA Engineering, Inc.

2) EUBANK EXCAVATION LLC

\$566,559.24

3) COOK'S EARTH WORKS, LLC

\$774,272.28

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF CLEARING AND GRUBBING TO SERVE STOKESBURY HARRIS COUNTY, TEXAS DECEMBER 19, 2023 LJA ENGINEERING, INC. E. MURPHY

DECEMBER 20, 2023

1680-8203 (9.2)

				4) DOUBLE OAK CON	ISTRUCTION, INC	5) CLEAR	X, LLC	6) RANDY ROAN CON	STRUCTION, INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
CLEARING AND GRU	BBING ITEMS								
	NG AND GRUBBING, INCLUDES ROOT RAKING AND BACK MPLETE IN PLACE	AC	55.52	\$5,985.00	\$332,287.20	\$7,603.36	\$422,138.55	\$4,800.00	\$266,496.00
	IG AND GRUBBING, INCLUDES ROOT RAKING AND BACK MPLETE IN PLACE	AC	141.76	\$255.00	\$36,148.80	\$620.86	\$88,013.11	\$500.00	\$70,880.00
PERIMETER FE	DISPOSAL OF EXISTING FENCES, ALL TYPES, INCLUDING NCES (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE MPLETE IN PLACE	LF	22250	\$1.30	\$28,925.00	\$1.89	\$42,052.50	\$4.00	\$89,000.00
	DISPOSAL OF EXISTING STRUCTURES IDENTIFIED ON THE N PLANS INCLUDING SLABS, COMPLETE IN PLACE	LS	1	\$13,000.00	\$13,000.00	\$24,780.00	\$24,780.00	\$5,000.00	\$5,000.00
5 CONTROL OF S	SURFACE WATER, COMPLETE IN PLACE	LS	1	\$1.00	\$1.00	\$0.01	\$0.01	\$2,500.00	\$2,500.00
CLEARING AND GRU	BBING ITEMS SUBTOTAL:				\$410,362.00		\$576,984.17		\$433,876.00
STORM WATER POLL	UTION PREVENTION ITEMS								
	R POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING PING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$3,700.00	\$3,700.00	\$4,593.75	\$4,593.75	\$3,000.00	\$3,000.00
2 CONSTRUCT A PLACE	ND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN	EA	1	\$3,200.00	\$3,200.00	\$3,150.00	\$3,150.00	\$3,200.00	\$3,200.00
	ILIZED CONSTRUCTION EXIT, (TO BE USED ONLY AT THE WRITTEN THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1,575.00	\$1,575.00	\$1,500.00	\$1,500.00
	EEDING OF ALL CLEARED AREAS, (TO BE USED ONLY AS THE ENGINEER), COMPLETE IN PLACE	AC	197.28	\$525.00	\$103,572.00	\$0.01	\$1.97	\$900.00	\$177,552.00
	SEEDING OF SWALES, (TO BE USED ONLY AS DIRECTED BY THE OMPLETE IN PLACE	AC	10	\$1,575.00	\$15,750.00	\$0.01	\$0.10	\$3,000.00	\$30,000.00
	FILTER FABRIC FENCE, (TO BE USED ONLY AS DIRECTED BY THE OMPLETE IN PLACE	LF	16020	\$2.50	\$40,050.00	\$0.01	\$160.20	\$2.00	\$32,040.00
STORM WATER POLL	LUTION PREVENTION ITEMS SUBTOTAL:				\$166,273.00		\$9,481.02		\$247,292.00
MISCELLANEOUS ITE	EMS								
	AND BARBED WIRE FENCE, (TO BE USED ONLY AS DIRECTED BY 8), COMPLETE IN PLACE	LF	1000	\$6.50	\$6,500.00	\$5.78	\$5,780.00	\$5.00	\$5,000.00
	ING OVERHEAD ELECTRICAL LINES (TO BE USED ONLY AS THE ENGINEER), COMPLETE IN PLACE	LF	5120	\$1.50	\$7,680.00	\$1.05	\$5,376.00	\$0.00	\$0.00
3 WOOD MATS W	HERE CONTRACTOR CROSSES PIPELINES, COMPLETE IN PLACE	LS	1	\$3,500.00	\$3,500.00	\$0.01	\$0.01	\$7,500.00	\$7,500.00
MISCELLANEOUS ITE	MS SUBTOTAL:				\$17,680.00		\$11,156.01		\$12,500.00
ALTERNATE BID NO.	1								
GRUBBING IN L	R DEDUCTION TO HAUL OFF MATERIAL FROM CLEARING AND LIEU OF BURNING, (TO BE USED ONLY AT THE WRITTEN DIRECTION SER), COMPLETE IN PLACE	LS	1	\$115,000.00	\$115,000.00	\$0.01	\$0.01	\$194,320.00	\$194,320.00
ALTERNATE BID NO.					\$115,000.00		\$0.01		\$194,320.00
BIDDING SUMMARY									
SUBTOTAL CLEARING	S AND GRUBBING ITEMS				\$410,362.00		\$576,984.17		\$433,876.00
SUBTOTAL STORM W	ATER POLLUTION PREVENTION ITEMS				\$166,273.00		\$9,481.02		\$247,292.00
SUBTOTAL MISCELLA	NEOUS ITEMS				\$17,680.00		\$11,156.01		\$12,500.00
TOTAL AMOUNT BAS	E BID				\$594,315.00		\$597,621.20		\$693,668.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF CLEARING AND GRUBBING TO SERVE STOKESBURY HARRIS COUNTY, TEXAS DECEMBER 19, 2023 LJA ENGINEERING, INC. E. MURPHY

E. MURPHY
DECEMBER 20, 2023
1680-8203 (9.2)

4) DOUBLE OAK CONSTRUCTION, INC 5) CLEARX, LLC 6) RANDY ROAN CONSTRUCTION, INC.

ITEM DESCRIPTION UNIT QTY UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST

ALTERNATE BID NO. 1

 TOTAL AMOUNT BASE BID
 \$594,315.00
 \$597,621.20
 \$693,668.00

 SUBTOTAL ALTERNATE BID NO. 1
 \$115,000.00
 \$0.01
 \$194,320.00

TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 1 \$709,315.00 \$597,621.21 \$887,988.00

 Page 5 of 7
 FRN F-1386

 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF CLEARING AND GRUBBING TO SERVE STOKESBURY HARRIS COUNTY, TEXAS DECEMBER 19, 2023 LJA ENGINEERING, INC.

LJA ENGINEERING, INC E. MURPHY DECEMBER 20, 2023 1680-8203 (9.2)

# 7) ADVANCE SITE PREP LLC

ITEM DESCRIPTION UNIT QTY UNIT COST	TOTAL COST								
CLEARING AND GRUBBING ITEMS									
1 HEAVY CLEARING AND GRUBBING, INCLUDES ROOT RAKING AND BACK AC 55.52 \$5,995.00 DRAGGING, COMPLETE IN PLACE	\$332,842.40								
2 LIGHT CLEARING AND GRUBBING, INCLUDES ROOT RAKING AND BACK AC 141.76 \$1,050.00 DRAGGING, COMPLETE IN PLACE	\$148,848.00								
3 REMOVAL AND DISPOSAL OF EXISTING FENCES, ALL TYPES, INCLUDING LF 22250 \$3.00 PERIMETER FENCES (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	\$66,750.00								
4 REMOVAL AND DISPOSAL OF EXISTING STRUCTURES IDENTIFIED ON THE LS 1 \$19,600.00 CONSTRUCTION PLANS INCLUDING SLABS, COMPLETE IN PLACE	\$19,600.00								
5 CONTROL OF SURFACE WATER, COMPLETE IN PLACE LS 1 \$10,800.00	\$10,800.00								
CLEARING AND GRUBBING ITEMS SUBTOTAL:	\$578,840.40								
STORM WATER POLLUTION PREVENTION ITEMS									
1 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING LS 1 \$1,550.00 STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	\$1,550.00								
2 CONSTRUCT AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN EA 1 \$4,000.00 PLACE	\$4,000.00								
3 REMOVE STABILIZED CONSTRUCTION EXIT, (TO BE USED ONLY AT THE WRITTEN EA 1 \$1,850.00 DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	\$1,850.00								
4 BROADCAST SEEDING OF ALL CLEARED AREAS, (TO BE USED ONLY AS AC 197.28 \$805.00 DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	\$158,810.40								
5 HYDRO MULCH SEEDING OF SWALES, (TO BE USED ONLY AS DIRECTED BY THE AC 10 \$3,200.00 ENGINEER), COMPLETE IN PLACE	\$32,000.00								
6 REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AS DIRECTED BY THE LF 16020 \$3.21 ENGINEER), COMPLETE IN PLACE	\$51,424.20								
STORM WATER POLLUTION PREVENTION ITEMS SUBTOTAL:	\$249,634.60								
MISCELLANEOUS ITEMS									
1 INSTALL 3-STRAND BARBED WIRE FENCE, (TO BE USED ONLY AS DIRECTED BY LF 1000 \$3.85 THE ENGINEER), COMPLETE IN PLACE	\$3,850.00								
2 REMOVE EXISTING OVERHEAD ELECTRICAL LINES (TO BE USED ONLY AS LF 5120 \$6.42 DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	\$32,870.40								
3 WOOD MATS WHERE CONTRACTOR CROSSES PIPELINES, COMPLETE IN PLACE LS 1 \$6,200.00	\$6,200.00								
MISCELLANEOUS ITEMS SUBTOTAL: \$42,920.40									
ALTERNATE BID NO. 1									
1 EXTRA COST OR DEDUCTION TO HAUL OFF MATERIAL FROM CLEARING AND LS 1 \$226,808.00 GRUBBING IN LIEU OF BURNING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	\$226,808.00								
ALTERNATE BID NO. 1 SUBTOTAL:	\$226,808.00								
BIDDING SUMMARY									
SUBTOTAL CLEARING AND GRUBBING ITEMS	\$578,840.40								
SUBTOTAL STORM WATER POLLUTION PREVENTION ITEMS	\$249,634.60								
SUBTOTAL MISCELLANEOUS ITEMS	\$42,920.40								
TOTAL AMOUNT BASE BID	\$871,395.40								

 Page 6 of 7
 FRN F-1386

 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF CLEARING AND GRUBBING TO SERVE STOKESBURY HARRIS COUNTY, TEXAS DECEMBER 19, 2023 LJA ENGINEERING, INC. E. MURPHY

E. MURPHY DECEMBER 20, 2023 1680-8203 (9.2)

7) ADVANCE SITE PREP LLC

ITEM DESCRIPTION UNIT QTY UNIT COST TOTAL COST

ALTERNATE BID NO. 1

TOTAL AMOUNT BASE BID

SUBTOTAL ALTERNATE BID NO. 1

TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 1

\$871,395.40

\$226,808.00

\$1,098,203.40